
TS – Solution – Fonctions Numériques – Logarithmes – Limites – s5467

Déterminer :

a) ln (x)
1 + ln (x) .

ln (x)
1 + ln (x) = ln (x)

ln (x)



1

ln (x) + 1
= 1

1
ln (x) + 1

. On sait  lim
x  +

ln (x) = + , 

d’où : lim
x  +

1
ln (x) = 0  et  lim

x  +

ln (x)
1 + ln (x) = 1 .

b)    lim
x  0+

1 + ln (x)
2 + ln (x) .

1 + ln (x)
2 + ln (x) = 

ln (x)



1

ln (x) + 1

ln (x) 



2

ln (x) + 1
= 

1
ln (x) + 1

2
ln (x) + 1 

.  On sait  lim
x  0+

ln (x) = - , 

d’où : lim
x  0+

1
ln (x) = 0  et  lim

x  +

1 + ln (x)
2 + ln (x) = 1 .

c)  lim
x  1+

ln 



x – 1

x + 2 .

lim
x  1+

x – 1
x + 2 = 0+ , et  lim

X  0+
ln (X) = - . On déduit : lim

x  1+
ln 



x – 1

x + 2 = - .

d)    lim
x  0+

ln 



1 + 1x .

lim
x  0+

1
x = + , d’où  lim

x  0+



1 + 1x = + . On déduit  lim

x  0+
ln 



1 + 1x = + .

e)     lim
x  0+

1 – ln2(x)
2 + ln (x) .

1 – ln2(x)
2 + ln (x) = 

ln (x) 



1

ln (x) - ln (x)

ln (x) 



2

ln (x) + 1
= 

1
ln (x) - ln (x)

2
ln (x) + 1

.

Sachant  lim
x  0+

ln (x) = - et lim
x  0+

1
ln (x) = 0 , on déduit : lim

x  0+

1 – ln2(x)
2 + ln (x) = lim

x  0+
(-ln (x)) = + .


